%} 12-13 CP Pre-Calculus Chapter 1 Test B3

NAME ég;«gg I:EY

" Part 1: Multlple Chowe——Wme the letter of the correct answer o1 blank prowded ‘ " '
PN il decldes to make cheesecakes to sell at the Fall Festival mc ot . 8
sill spent $32.00 for the booth decorations and each che&decake ;

will cost $6.75 per cake to make. Write a linear functlon for

the total cost of the cheesecakes.

A). C(x)=32x+675  B) C(X)=675x+32

0) C(x)=38.75x D) C(x)=26.25x
2. Given A = {(-2,-1,0} and B ={1,2,3}, determine which of the ST 2. 5
sets ordered pairs represents a function from A to B.
A {(—1,1), 02,1223} B) {<12,0.D,(-23)} .. " ~
O (12,0032} D) None of these
3. Inwhlchef the following equations is y a function of x?: - Lot 3. A e

" hA) 2-9=17-3y By2r+s=i4st , o

- C)Bothaandb D) Neither a nor b

4. Given g(x) = ‘“‘“32', state the domain of the function.
x- S

A [2) B 23)uEm) ¢
oy D) (=3)0(3)
5. Given g(x)%—x2+2x+1;ﬁnd g(x+;1) | S el o 5. , 5
A) -x* +10x+25 | B) —-x*-6x-7
7~ (e +4)? +1 D) #+2x-6




6. The parent function f(x)= x* is reflected over the x-axis, has a horizontal

shrink of 2 and is translated 3 units up, 4 units to the left. Write the equation of the
resulting function.

j 3 E . ) E
A g(x)=—(%x—4) +3 B) g(x)=4(2x¥j-8)3+3
y 1 ’ ‘ e 3
- 0 g»)= —Ex—8 +3 D) g(x)=(-2x+4) +3
l 7. Determine if f (x) =—2x* - 2x is even, odd, or neither. =~ 7. &
[ A)even - B) odd C) neither
| ,
t 8. Given the point (-2,-3) on the graph of an even function. : ’ 8. 'A'
| Find a second point on the graph. \
A) (2°3) B) (-2,3) - C) (2,3)
‘ 5. x<-3 : a4
9. Given f(x)=4~2x+1 -2<x<5 , find f(5) Evaluate the function. =~ = 9 d/
W xS o S
B)75 - .
D) 66
10. What is the equatlon for the graph at the right? - ) 10. B
i 2 . )
A) f(x)= ( x+4) -3 ’ .
B) f(x)=(2x+4)*-3 l
C) f(x)=(x-4-
D) f(x)=(x-4)"-3 }
T Vin
11. Let f(x)=x+3 aﬁd g(x)=x*-4, find (fg)(2) 11.__{_'/____ o
B) 3 '
D)21 °

™~




L2

12, Let f(x)=x+3 and g(x)= x’“‘-4, find (—'t-)(x)’and staté the domain. ‘ VR & '
e o i 4 ' : ; -

;& v £ﬁ=~;’_,_x___3_ L : f _x+3
o (s)‘f" o @[ )() -

domain :(—00,2) ' o domain : (—o0,-2]U[-2,2)]U[2,0)

(£ x+3 | | Vf _
B) (g)(x)— x*-4 o D) ( )( )= x* 4
domain : (~0,-2)U(-2,2) U (2,0) domain : (-, -—3)u (3,)

13 leen f(x)=1-Bx+1 and g(x)=25¢, find (fog)l) ' 13. O
A) 25 . B) 25

01-V76 - B D) Not possible

14. Use the graph ‘below to answer the followmg questtons Use mterval nota\' .40

. A. Functlon?

: ;B.,Domam:; Lr ¥ O

, H. Whatis xif f(3)=1: Cy,37 A

oA I. Graph the inverse ofthe fmwtaon |
E ' ~(Use the same coordinate plane)

(24 I




15. Given f(x)=3x-2 +1

A What s the domain of f? B. What is the range of f ? B. ( *&9,09)@ -
) I S o V ' " ; gl 3
e O @t
ain (w } bﬂ)
C. Find the inverse of f. D. If the inverse of f is a function, e: - ( qu, “’)
. , _state the domain and range. :
- 35‘? y b
C k-l = Yy
(x- 03 .
= (x- 1)3’ +2
5 a9 D)
16. Use the composition of functions to prove f(x)=</3x-10 and (x)- are inverses
=¥ =

F(C)u:)) \]\3@&%-.0 : 5(&@)-(@ ‘o 32 %yl =2

3

-Ix -

x—-4

Z_3

L 2

( ffxw-l

2. -

o tC




L,Sfﬂse transformations to graph the function. - FJ lecd Vel X0 S I
Foy=1- 33{2+%x ‘
e

*)A R PG

Graph the parent function using a dotted curve.
(Use thc coordmate pianc provided.)

Shvebel g3 translete, 4 left ¢ up

- XY
B Last the transformatlons in the correct order C. ~di|
C. Write the list of order paus for the final graph. - .: ';
D. Graph f{x). 4] -8
" (On the same coordinate plane as part A)

" e . ‘ K
DL
= 1}
L e -
.
X
~P
T e N
P

19. Christina is makmg hot chocolate to sell at this season’s first football game;
; She spent $25.00 on paper supplies. Each cup of hot chocolate costs Christina -
75 cents to make. *She plans on selling each cup of hot chocolate: fer $2.50. Q{ x\ 15X t 2—5‘ %

A. Write a cost function and determme the cost for -making 300 cups of hot choctglane

C,()L) ISx 4 15,00 . (’,(300> .75((3073\ “—LS 0
. 2,00
R = 2.5% | f2rsRiced
B. Write a profit function and then determine how many cups ﬂust | " B. E&) > . 18K '2@
be sold to make $325 ‘02 Ao

' 75
o~ P(x\ 25K st-kzs) |75 |
- AT LSk -Qg | .4.~;vfazs"= "79"2'(;;




_20. Given an isosceles tight triangle.

5 . p_2¢

A. Write the length of the side S, as a function of the length
X of the hypotenuse A. X2
- | 28z Iy

| g:j_:_:_ s(») ba'd-:-'z

ab

B. Write the Area A of the triangle as a functmn of side S.

Als): + 5.5 : A= 8

}"CFmd(A S)h). | | \2 o | o
W) 7 8- pe (@ . o s

2 -3 of ——— 7 AN '
: z 2 T Y N\
D. Ifthe length of Vthe -hyp‘eteRuSe is 10 inches, what is the area : : :

of the isosceles triangle?

=A% 2s




